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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–IV • EXAMINATION – SUMMER • 2014 

Subject Code: 340602 Date: 27-05-2014        

Subject Name: Surveying II 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1 (a) Define following: 

(i)  Northing   (ii) Easting  (iii) Consecutive Co-ordinate  

(iv) Independent Co-ordinate(v) Tacheometry  (vi) Degree of curve        

(vii) Valley curve 

07 

 (b) Write short notes ( Any two ) 

(i) Tangential Tacheometry    (ii) Types of Curves 

(iii)Azimuth Mark                   (iv) ATR 

07 

    
Q.2 (a) Define Trigonometrical  Levelling. Derive expression for determining R.L. of 

top of object when base of object is accessible.   

07 

 (b) Following readings were taken for Trigonometrical  Levelling.  

Instrument 

station 

Staff reading on 

BM 

Angle of 

Elevation 

Remarks 

A 1.50 m. 15
0
00’ RL of 

BM=200m 

B 2.50 m 10
0 

30’ Distance 

AB=60m 

If instrument station A, B and top of tower are in same vertical plane, find  

R.L. of  Top of Tower.  

07 

  OR  

 (b) Following observations were taken during theodolite  traverse survey. 

Line Length Reduced Bearing 

AB 80.00 N 51
0
00’ E 

BC 70.00 N 36
0
00’ W 

CD 100.00 S 62
0
00’ W 

DA 90.00 S 48
0
00’ E 

Calculate consecutive coordinate and closing error of the traverse.  

07 

    
Q.3 (a) Derive an expression to calculate horizontal distance when staff is held 

vertical and line of sight is horizontal.   

07 

 (b) Following observation were made on a vertically held staff on station A & B 

with a tacheometer set up on an intermediate point  P on a straight line AB. 

Instrument 

station 

Staff 

station 

Vertical 

Angle 

Staff Reading Remarks 

P A 10
0 

30’ 2.50,  3.10,  3.70 RL of Instr. 

Axis of 

P=120m 

P B 12
0  

00’ 1.80,  2.30,  2.80 

Calculate length AB and RL of station A and  B. Tacheometer was fitted with 

anallatic lens and have a multiplying constant 100.  

07 

  OR  
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Q.3 (a)  (i) What is anallatic lens ?  Write advantage &disadvantage of anallatic lens in     

tacheometer.   

(ii) Establish relation between Radius of Curve and Degree of curve. 

  04 

 

  03 

 

 (b) In a Tangential Tacheometry, following readings were taken on a staff St. B. 

Find out RL of St.B and horizontal Distance AB. 

 

Instrument 

station 

Staff 

station 

Vertical 

Angle  

Staff Reading Remarks 

A B 4
0 

30’ 

6
0
30’

  
 

2.00 m 

3.00 m 

RL of Instr. 

Axis of 

A=150m 
 

07 

    
Q.4 (a) Draw a simple circular curve and show on it following elements . 

(i) Apex (ii)  Tangent Length (iii)  Mid Ordinate  (iv) External distance  

(v) Length of long chord.  

07 

 (b) Calculate ordinate from Long Chord of 100m. at 10m interval for a simple 

curve having  Radius of curve is  100m.  

07 

  OR  

Q. 4 (a) (i) List various obstacles which may come across while setting out a simple 

circular curve. 

(ii) List uses of Total Station. 

04 

 

  03 

 (b) What are precautions to be taken while using Total Station.  07 

    
Q.5 (a) Write down steps to be followed for setting up of  Total Station . 07 

 (b) Explain measurement of horizontal angles using Total Station. 

 

07 

  OR 

 

 

Q.5 (a) Give advantage of map prepared on Total Station Screen. 07 

 (b) Explain basic parameters of Total Station. 07 
 

************ 
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ગજુરાતી 
પ્રશ્ન. ૧ અ નીચેના ઩દોની વ્માખ્મા આ઩ો. 

(૧)નોથીં ગ  (૨) ઈસ્ટીંગ (૩) ક્રમભક માભો. (૪) સ્લતતં્ર માભો. (૫) ટેક્યોભીટય  
(૬)લક્રનો અંળ (૭) ખીણ લક્ર  

૦૭ 

 બ નીચેના કોઈ ઩ણ ફે ઩ય ટૂંક નોંધ રખો. 
(૧) અંતયકોણ ભા઩નની સ્઩ળશકીમ યીત        (૨) લક્રના પ્રકાયો  
(૩) એટીઆય (ઓટોભેટીક ટાગેટ યીકગ્નીળન) (૪) અઝીમથુ ભાકશ  

૦૭ 

    
પ્રશ્ન. ૨ અ મત્રકોણમભમતમ તરેક્ષણની વ્માખ્મા આ઩ો. જ્માયે લસ્તનુો ઩ામો પ્રલેળગમ્મ હોમ 

ત્માયે લસ્તનુા ટોચની સા઩ેક્ષ ઊંચાઈ ળોધલા ભાટેન ુસતુ્ર તાયલો. 
૦૭ 

 બ મત્રકોણમભમતમ તરેક્ષણ દ્વાયા નીચેના લાચંનાકંો રેલાભા ંઆવ્મા. 
ઉ઩કયણનુ ંસ્થાન તરચચન્હ ઩યનુ ં

અલરોકન 

ઉન્નત કોણ યીભાકશ  

A 1.50 m. 15
0
00’ RL of 

BM=200m 

B 2.50 m 10
0 

30’ Distance 

AB=60m 

 
જો ઉ઩કયણ સ્થાન એ, સ્થાન ફી અને ટાલયની ટોચ એક જ સભતરભા ંહોમ તો 
ટાલયની ટોચની સા઩ેક્ષ ઊંચાઈ ળોધો. 

૦૭ 

  અથવા  

 બ થીમોડોરાઈટ ભારાયેખણ સલેભા ંનીચે પ્રભાણે અલરોકનો રેલાભા ંઆવ્મા હતા. 
યેખા રફંાઈ વતૃ઩ાદ ફેયીંગ 

AB 80.00 N 51
0
00’ E 

BC 70.00  N 36
0
00’ W 

CD 100.00  S 62
0
00’ W 

DA 90.00 S 48
0
00’ E 

ભારાયેખણ ભાટે ક્રમભક માભોની ગણત્રી કયો તથા સભા઩ન ત્રટુી ળોધો. 

૦૭ 

    
પ્રશ્ન. ૩ અ અંતયકોણ ભા઩નભા ં દંડ જ્માયે ઉર્ધલશ યાખેર હોમ અને દ્ર્ ષ્ટટ યેખા કૈ્ષમતજ હોમ 

ત્માયે કૈ્ષમતજ અંતય ભા઩લા ભાટેન ુસતુ્ર તાયલો. 
૦૭ 

 બ યેખા એફી ની લચ્ચે સ્થાન ઩ી ઉ઩ય ટેક્યોભીટય ગોઠલીને ઉર્ધલશ દંડ ઩ય નીચે 
મજુફના અલરોકનો રેલાભા ંઆલેર. 

ઉ઩કયણનુ ં
સ્થાન 

દંડ 
સ્થાન 

ઉન્નત કોણ દંડ લાચંનાકં યીભાકશ  

P A 10
0 

30’ 2.50, 3.10,   3.70 RL of Instr. 

Axis of 

P=120m 

P B 12
0  

00’ 1.80,  2.30,  2.80 

ઉ઩કયણભા ંએનારેટીક કાચ પીટ કયેર છે અને ગણુાકં અચ઱ાકં ૧૦૦ છે. તો 
યેખા એફી ની રફંાઈ તથા સ્થાન ‘ફી’ ની સા઩ેક્ષ ઊંચાઈ ળોધો. 

૦૭ 
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  અથવા  

પ્રશ્ન. ૩ અ (૧) એનારેટીક કાચ શુ ં છે ?  ટેક્યોભીટયભા ં એનારેટીક કાચ પીટ કયલાના ં
પામદા અને ગેયપામદા રખો.  
(૨) લક્રની મત્રજ્મા અને લક્રના ંઅંળ લચ્ચેનો સમ્ફધં સ્થામ઩ત કયો.                                

૦૪ 

 

૦૩ 

 

 બ અંતયકોણ ભા઩નની સ્઩ળશકીમ યીતભા ં સ્થાન ‘ફી’ ઩ય દંડ યાખીને નીચેના ં
અલરોકનો રેલાભા ંઆલેર. 

ઉ઩કયણનુ ં
સ્થાન 

દંડ 
સ્થાન 

ઉન્નત કોણ દંડ લાચંનાકં યીભાકશ  

A B 4
0 

30’ 

6
0
30’

  
 

2.00 m 

3.00 m 

RL of Instr. 

Axis of 

A=150m 

દંડ સ્થાન ‘ફી’ ની સા઩ેક્ષ ઊંચાઈ તથા ‘એફી’ લચ્ચેન ુકૈ્ષમતજ અંતય ળોધો. 

૦૭ 

પ્રશ્ન. ૪ અ સય઱ લક્ર દોયો અને તેના ઩ય નીચેના બાગો દળાશલો. 
(૧) મળયો ચફિંદુ  (૨) સ્઩ળશક રફંાઈ  (૩) ભર્ધમ માભ (૪) ફાહ્ય અંતય  
(૫) દીઘશ જીલાની  રફંાઈ 

૦૭ 

 બ ૧૦૦ ભી. ની દીઘશ જીલા અને ૧૦૦ ભી. મત્રજ્મા લા઱ા સાદા લક્ર ભાટે દીઘશ જીલા 
઩યથી ૧૦ ભીટયના અંતયે માભોની ગણત્રી કયો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ (૧) સય઱ લક્રના ંઆંકણ કયતી લખતે આલનાયા જુદા જુદા અલયોધોની માદી 
રખો. 
(૨) ટોટર સ્ટેળનના ઉ઩મોગો રખો.           

૦૪ 

 

 

૦૩ 

 બ ટોટર સ્ટેળન લા઩યતી લખતે સાલચેતીના ંક્યા ક્યા ઩ગરા ંરેળો ?  ૦૭ 

    
પ્રશ્ન. ૫ અ ટોટર સ્ટેળનની ગોઠલણી ભાટે જરુયી મદુ્દાઓ રખો. ૦૭ 

 બ ટોટર સ્ટેળનના ઉ઩મોગથી કૈ્ષમતજ ખણુાની ભા઩ણી કઈ યીતે કયળો તે 
સભજાલો. 

૦૭ 

                                        અથવા  

પ્રશ્ન. ૫ અ ટોટર સ્ટેળનના ઩ડદા ઩ય તૈમાય કયેર નકળાના ંપામદાઓ જણાલો. ૦૭ 

 બ ટોટર સ્ટેળનભા ંગણતયી ભાટેના ંમ઱ૂભતૂ ઩ેયાભીટય સભજાલો. ૦૭ 

 

****************** 


